Analisi Matematica 1
Calcolo dei limiti (parte II)

I) Supponiamo che x,, — +oo oppure z,, — —oo oppure |z, | — +oo. Allora

1\*
lim (1 + > =e.
n—-+4oo Tn

IT) Supponiamo che €, # 0 e g, — 0. Allora

. sin e,
1. lim
n—+o00 &y

=1 ovvero sine, ~ &, per n — oo;

) 1—cosg, 1 (en)?
2. lim ——s =5 ovvero 1 —cose, ~ =5~ per n — oo;
n—too (&) 2
. tane,
3. lim =1 ovvero tane, ~ €, per n — o;
n—-+4oo En
arctan e,
4. lim — =1 ovvero arctane, ~ &, per n — oo;
n—-+oo En
. log(1+¢
5. lim log(1+ ¢n) =1 ovvero log(l+ey,)~ e, per n — oo;
n—-4oo En
en —1
6. lim =1 ovvero € —1n~¢g, pern — oo;
n—-+4oo En
. 14e,)"—1
7. lim %:a, ac€R ovvero (1+¢,)"—1~ae, pern— o;
n—-+oo En
sinh g, .
8. 1 =1 ovvero sinhe, ~ &, per n — oc.



